EARAROBEEIERT — 2 N— IBISH —F

2017512898 (£) 5EIBR##H3HE

mﬁﬁ%Zﬁ E UsTE] E# \ (Xfg] B \ [REmshEl  — | & (B) 1800M B
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i g t 2 | AHEH 1:54.8 7-7-7-4 | 37.3| 82.0 | 2 512 | EAIESE (EH)
1 4|7 TNVALT-ILER * 5.0 (=) (—) | B ¥royrTr—L
L= RFU2— B:vFHZFIAIIAL J—HTr— L
S A 2 | M. FL-0 1:55.5 1-2-2-1 |38.8| 76.0 | 1 53 |BBE—& (EX)
2 6| EX/—TI¥T " 5.0 ) (o) | @) Fresn-o27L0
L:TANVRTyYa BEa—FT1—FEX BEH%H
= s o s 2 | AR 1:56.4 6-6-5-4 |39.1] 68.4 | 6 480 |PRRE (BR)
3011 T Y—Ta 55.0 (5) (—) | EERI#
L:YyZZX4—3ZR%— B:74LRO-X B KetE
SRS A 4 2 | ERE 1:56.4 8-8-8-8 |38.4| 68.0 | 4 504 | BEEEER (RF)
4|5|5|71>b35y b 55.0 (F45%) (o) | ) >
R:T7ANMNGTTFY— B:R>T7T71)T7IL R ARETa—T7— LA
o = HBE 156. —-3-3- . . Ffg (FER)
sl7| 7| ErUzxs b o2 RN 1(15/62>5 2-3-3-3 | 39.7|67.9| 5 (414) T
LA g R—F— B:TIT—k—U— FEZF 45
= s a7 4 o2 | ESEME 1:56.5 4-4-4-4 | 39.5| 67.8 | 7 502 | RERRX (ER)
EE 2| 7T IRAXE— 55.0 (NF) (=) |EBFEEFE
RIPINATXA—h— B:HY—> PEie ]
. P . 11— Hehg = (FH)
Jlglgl 77275y va o2 e 1.{367>.5 3-1-1-2 | 40.8| 60.8 | 3 (438) ﬁﬁﬁ@ﬂ (
R:VZRE—3IZR8— BAIRAFVAL B W2
i s o2 | JIBE= 1:59.4 9-9-9-9 |40.3| 45.1 | 9 40 |FEE® (FH)
glglg|AVI—TUTY 54.0 (21 4) (=) |REEX
R:70F—v B:F¥auIATLT7— 18 i
S > t 2 | BEES 2:00.0 4-4-5-7 |42.7| 446 | 8 450 | EE (ER)
EH 3| ZAIAETX ’ .0 3 1/2) <) kR
RV RYZYAIR BNLVES RE-F ARESUHB R/ 77— L
@ 71 L
) 51.2-38.1
NO>24 4L | 13.0-11.4-13.2-12.9-13.1-13.1-12.9-12.7-12.5
@ 1—F—@&BIEf
13=7r= (x6,7)9(2,3)-1-4,5=8
23—7F— (6,%9)7(2,3)-1-4-5=8
S=57= (x9,6)7,2(1,3)-4-5=8
43—F— (9,%6)7(2,1,4)-3,5=8
[ RN
B OB 4 600 714K 4-6 230M e & 4-6 430M &R 1-4-6 1,580M
8 B 4 140/ 1-4 720MH B & 4-6 510 3B 4-6-1 9,030/
6 110 1-6 460 B H 4-6 1,620
1 210H

ABICOVWTRDTEEERROODE. TR LIV,



